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COORDINATE GEOMETRY

1. What is the distance between A (4,0) and B

(8, 0).


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o4vot2voEfal

° Watch Video Solution

2. A and B are two points given by (8, 3), (-4, 3).

Find the distance between A and B.

o Watch Video Solution

3. Let’s find the distance between two points

A(4, 3) and B(8, 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_o4vot2voEfal
https://dl.doubtnut.com/l/_aYKOME3d9uEl
https://dl.doubtnut.com/l/_AEJBw6Wuw4hm
https://dl.doubtnut.com/l/_LbpqtdWtbTQy

4, Show that the points A (4, 2), B (7, 5) and C

(9, 7) are three points lying on a same line.

o Watch Video Solution

5. Do the points (3, 2), (-2, -3) and (2, 3) form a

triangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_LbpqtdWtbTQy
https://dl.doubtnut.com/l/_fbAGpEaqbgP2

6. Show that the points (1, 7), (4, 2), (-1, -1) and

(-4, 4) are the vertices of a square .

o Watch Video Solution

7. The figure shows the arrangement of desks
in a class room. Madhuri, Meena, Pallavi are
seated at A(3, 1), B(6, 4) and C(8, 6) respectively.

Do you think they are seated in a line ? Give


https://dl.doubtnut.com/l/_cfs5DbFqRd4W
https://dl.doubtnut.com/l/_nhAYBSQMVb8e

reasons for your answer.
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o Watch Video Solution

8.Find the relation between x and y such that

the point (x, y) is equidistant from the points


https://dl.doubtnut.com/l/_nhAYBSQMVb8e
https://dl.doubtnut.com/l/_Z32v112It08e

(7,1) and (3, 5).

o Watch Video Solution

9. Find a point on the Y-axis which is
equidistant from both the points A(6, 5) and

B(- 4, 3).

o Watch Video Solution

10. Find the coordinates of the point which

divides the line segment joining the points (4,


https://dl.doubtnut.com/l/_Z32v112It08e
https://dl.doubtnut.com/l/_vLf0iJ4iIF3w
https://dl.doubtnut.com/l/_kMeHfxvuSDb0

-3) and (8, 5) in the ratio 3 : 1internally

o Watch Video Solution

11. Find the mid point of the line segment

joining the points (3, 0) and (-1, 4)

° Watch Video Solution

12. Find the coordinates of the points of
trisection of the line segment joining the

points A(2,-2) and B(-7, 4).


https://dl.doubtnut.com/l/_kMeHfxvuSDb0
https://dl.doubtnut.com/l/_mPlNZ6p3K3bu
https://dl.doubtnut.com/l/_leMLYckwa1Hm

° Watch Video Solution

13. Find the centroid of the triangle whose

vertices are (3, -5), (-7, 4) and (10, -2).

o Watch Video Solution

14. In what ratio does the point (- 4, 6) divide
the line segment joining the points A(- 6, 10)

and B(3, - 8)?

o Watch Video Solution



https://dl.doubtnut.com/l/_leMLYckwa1Hm
https://dl.doubtnut.com/l/_2vgmq4f5ozDz
https://dl.doubtnut.com/l/_EhUcG0InL8VD

15. Find the ratio in which the y-axis divides
the line segment joining the points (5, -6) and

(-1,-4). Also find the point of intersection.

o Watch Video Solution

16. Show that the points A(7, 3), B(6, 1), C(8, 2)
and D(9, 4) taken in that order are vertices of a

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_EhUcG0InL8VD
https://dl.doubtnut.com/l/_6hKpP7d68hdW
https://dl.doubtnut.com/l/_OxY91ILmz9Gq

17. If the points A(6, 1), B(8, 2), C(9, 4) and D(p,
3) are the vertices of a parallelogram, taken

inorder, find the value of p.

o Watch Video Solution

18. Find the area of a triangle whose vertices

are (1,-1), (-4, 6) and (-3, -5).

° Watch Video Solution



https://dl.doubtnut.com/l/_toe7mBVN3yta
https://dl.doubtnut.com/l/_JZadI5Sa75PD

19. Find the area of a triangle formed by the

points A(5, 2), B(4, 7) and C(7, -4).

° Watch Video Solution

20. If A(-5, 7), B(-4,-5), C(-1, -6) and D(4,5) are the
vertices of a quadrilateral, then, find the area

of the quadrilateral ABCD.

° Watch Video Solution



https://dl.doubtnut.com/l/_kUgJHJSsTE3Y
https://dl.doubtnut.com/l/_SZbZ8YNlCNqr

21. The points (3, -2) (-2, 8) and (0, 4) are three
points in a plane. Show that these points are

collinear.

o Watch Video Solution

22. Find the value of ‘b’ for which the points

A(1, 2), B(-1, b) and C(-3, -4) are collinear .

° Watch Video Solution



https://dl.doubtnut.com/l/_HQlFRPwuDgVC
https://dl.doubtnut.com/l/_cRRr4uSbov4g

23.The end points of a line segment are (2, 3),

(4, 5). Find the slope of the line segment.

o Watch Video Solution

24. Determine x so that 2 is the slope of the

line passing through P(2, 5) and Q(x, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_XqlO4x0rpMy8
https://dl.doubtnut.com/l/_rGTlsx2X0WON
https://dl.doubtnut.com/l/_AW4DXqJHBNxT

1. Find the distance between the pair of points

(2,3) and (4, 1)

o Watch Video Solution

2. Find the distance between the pair of points

(-5, 7) and (-1, 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_AW4DXqJHBNxT
https://dl.doubtnut.com/l/_KbVKrJcK4rHL

3. Find the distance between the pair of points

(-2,-3) and (3, 2)

o Watch Video Solution

4. Find the distance between the pair of points

(a, b) and (-a, -b)

o Watch Video Solution



https://dl.doubtnut.com/l/_eedzpA2VPgwt
https://dl.doubtnut.com/l/_pIn0bDWYpiZu

5. Find the distance between the points (0, 0)

and (36, 15).

o Watch Video Solution

6. Verify whether the points (1, 5), (2, 3) and (-2,

-1) are collinear or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_uOX7JRZbpKG5
https://dl.doubtnut.com/l/_8z0MRYnEUHMV

7. Check whether (5, -2), (6, 4) and (7, -2) are the

vertices of an isosceles triangle.

o Watch Video Solution

8. In a class room, 4 friends are seated at the
points A, B, C and D as shown in Figure. Jarina
and Phani walk into the class and after
observing for a few minutes Jarina asks Phani
“Don’t you notice that ABCD is a square?”

Phani disagrees. Using distance formula,


https://dl.doubtnut.com/l/_MY5kTF9Pt0ls
https://dl.doubtnut.com/l/_2hWv5oNwXzEy

decide who is correct and why?
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o Watch Video Solution

9. Show that the following points form an

equilateral triangle A(a, 0), B(-a, 0), C(0, a \/3)


https://dl.doubtnut.com/l/_2hWv5oNwXzEy
https://dl.doubtnut.com/l/_dJVEZRO1AglD

° Watch Video Solution

10. Prove that the points (-7, -3), (5, 10), (15, 8)
and (3, -5) taken in order are the corners of a

parallelogram.

° Watch Video Solution

11. Show that the points (-4, -7), (-1, 2), (8, 5) and
(5, -4) taken in order are the vertices of a

rhombus. Find its area.


https://dl.doubtnut.com/l/_dJVEZRO1AglD
https://dl.doubtnut.com/l/_MThDnbVdzvP9
https://dl.doubtnut.com/l/_UoQ99T3f5peV

(Hint : Area of rhombus = 3 X product of

its diagonals)

° Watch Video Solution

12. Name the type of quadrilateral formed, if
any, by the points, and give reasons for your
answer.

(-1,-2), (1,0), (-1, 2), (-3, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_UoQ99T3f5peV
https://dl.doubtnut.com/l/_iwMVhad5IlP5

13. Name the type of quadrilateral formed, if
any, by the points, and give reasons for your
answer.

(-3,5),(3,1),(1,-3), (-5, 1)

o Watch Video Solution

14. Name the type of quadrilateral formed, if
any, by the points, and give reasons for your
answer.

(4,5),(7,6),(4,3),(1,2)

| & I


https://dl.doubtnut.com/l/_j7NFmx4lSiGF
https://dl.doubtnut.com/l/_kS7rFuA1N8XP

| ¥ Watch Video Solution |

15. Find the point on the X-axis which is

equidistant from (2, -5) and (-2, 9).

o Watch Video Solution

16. If the distance between two points (x, 7)

and (1, 15) is 10, find the value of x

o Watch Video Solution



https://dl.doubtnut.com/l/_kS7rFuA1N8XP
https://dl.doubtnut.com/l/_38b1AN9isOeF
https://dl.doubtnut.com/l/_aCQI9zQtC7rB
https://dl.doubtnut.com/l/_RjormOTRns42

17. Find the values of y for which the distance
between the points P(2, -3) and Q(10, y) is 10

units.

o Watch Video Solution

18. Find the radius of the circle whose centre is

(3, 2) and passes through (-5, 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_RjormOTRns42
https://dl.doubtnut.com/l/_QfDTaubd5l90

19. Can you draw a triangle with vertices (1, 5),

(5, 8) and (13, 14) ? Give reason

o Watch Video Solution

20. Find a relation between x and y such that
the point (x, y) is equidistant from the points

(-2, 8) and (-3, -5)

o Watch Video Solution



https://dl.doubtnut.com/l/_lBFwnCJmHXKD
https://dl.doubtnut.com/l/_t6LmfIfLqbSn

1. Find the coordinates of the point which
divides the line segment joining the points (-1,

7) and (4, -3) in the ratio 2:3.

o Watch Video Solution

2. Find the coordinates of the points of
trisection of the line segment joining (4, -1)

and (-2, -3).

o Watch Video Solution



https://dl.doubtnut.com/l/_T9dbn7ZmMvt9
https://dl.doubtnut.com/l/_KyRgbhK2xXw9

3. Find the ratio in which the line segment
joining the points (-3, 10) and (6, -8) is divided

by (-1, 6) .

o Watch Video Solution

4.1f (1, 2), (4,y), (x,6) and (3, 5) are the vertices

of a parallelogram taken in order, find x and y.

° Watch Video Solution



https://dl.doubtnut.com/l/_moGNyfj1DIdp
https://dl.doubtnut.com/l/_F7KDK50PLvr8

5. Find the coordinates of a point A, where AB
is the diameter of a circle whose centre is (2,

-3) and B is (1, 4).

o Watch Video Solution

6. If A and B are (-2, -2) and (2, -4) respectively,
find the coordinates of P on AB such that AP

_7 .

o Watch Video Solution



https://dl.doubtnut.com/l/_SDmt6c1ePl8F
https://dl.doubtnut.com/l/_kLHyMAahco1v
https://dl.doubtnut.com/l/_MokFd1OgIZGR

7. Find the coordinates of points which divide
the line segment joining A(-4, 0) and B(O, 6)

into four equal parts.

o Watch Video Solution

8. Find the coordinates of the points which
divides the line segment joining A(-2, 2) and

B(2, 8) into four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_MokFd1OgIZGR
https://dl.doubtnut.com/l/_59c0yXiXzgXm
https://dl.doubtnut.com/l/_0oK06Wec7Y8F

9. Find the coordinates of the point which
divides the line segment joining the points (a
+ b,a-b)and (a-b,a+ b)in the ratio 3: 2

internally

° Watch Video Solution

10. Find the coordinates of centroid of the
triangle with vertices:

(-1, 3), (6,-3) and (-3, 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_0oK06Wec7Y8F
https://dl.doubtnut.com/l/_lv2UVsw7WnEQ
https://dl.doubtnut.com/l/_2Rs56TNhHy35

11. Find the coordinates of centroid of the
triangle with vertices:

(6,2),(0,0) and (4, -7)

° Watch Video Solution

12. Find the coordinates of centroid of the
triangle with vertices:

(1,-1), (0, 6) and (-3, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_2Rs56TNhHy35
https://dl.doubtnut.com/l/_NKVZzn5ERaBp

1. Find the area of the triangle vertices are

(2,3) (-1,0), (2,-4)

o Watch Video Solution

2. Find the area of the triangle vertices are

(-5,-1), (3,-5), (5, 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_nHpCBBeZEsUU
https://dl.doubtnut.com/l/_ZjDBUnuH7NDO
https://dl.doubtnut.com/l/_vSqWlvJDMo34

3.Find the area of the triangle vertices are

(0, 0), (3,0) and (0, 2)

o Watch Video Solution

4. Find the value of ‘K’ for which the points are
collinear

(7,-2) (5,1) (3, K)

o Watch Video Solution



https://dl.doubtnut.com/l/_vSqWlvJDMo34
https://dl.doubtnut.com/l/_hteDV8qAsWEb

5. Find the value of ‘K’ for which the points are
collinear

(8, 1), (K, -4),(2,-5)

o Watch Video Solution

6. Find the value of ‘K’ for which the points are
collinear

(K, K) (2, 3) and (4, -1).

o Watch Video Solution



https://dl.doubtnut.com/l/_HRQZriCQs68R
https://dl.doubtnut.com/l/_asWlOsXdEE9k
https://dl.doubtnut.com/l/_rMsyXISrZHYc

7. Find the area of the triangle formed by
joining the mid-points of the sides of the
triangle whose vertices are (0O, -1), (2, 1) and (O,
3). Find the ratio of this area to the area of the

given triangle.

o Watch Video Solution

8. Find the area of the quadrilateral whose
vertices, taken in order, are (-4, -2), (-3, -5), (3,

-2) and (2, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_rMsyXISrZHYc
https://dl.doubtnut.com/l/_XrMOaMhUqB9v

9. Find the area of the triangle formed by the
points (2, 3), (6, 3) and (2, 6) by using Heron’s

formula

o Watch Video Solution

1. Find the slope of the line passing through

the given two point


https://dl.doubtnut.com/l/_XrMOaMhUqB9v
https://dl.doubtnut.com/l/_rLQfGc04aYma
https://dl.doubtnut.com/l/_73Ns2XG8dDC7

(4,-8) and (5, -2)

o Watch Video Solution

2. Find the slope of the line passing through

the given two point

(0,0) and (+/3, 3)

o Watch Video Solution

3. Find the slope of the line passing through

the given two point


https://dl.doubtnut.com/l/_73Ns2XG8dDC7
https://dl.doubtnut.com/l/_7dOlfFBjip2p
https://dl.doubtnut.com/l/_3AN4SKcBEn9Q

(2a, 3b) and (a, -b)

o Watch Video Solution

4. Find the slope of the line passing through
the given two point

(a, 0) and (0O, b)

o Watch Video Solution

5. Find the slope of the line passing through

the given two point


https://dl.doubtnut.com/l/_3AN4SKcBEn9Q
https://dl.doubtnut.com/l/_3SKBiG7aCFXN
https://dl.doubtnut.com/l/_idQiRFr42KM1

A(-1.4,-3.7), B(-2.4,1.3)

o Watch Video Solution

6. Find the slope of the line passing through
the given two point

A(3,-2), B(-6, -2)

o Watch Video Solution

7. Find the slope of the line passing through

the given two point


https://dl.doubtnut.com/l/_idQiRFr42KM1
https://dl.doubtnut.com/l/_3L1k2PBSkjGj
https://dl.doubtnut.com/l/_blPlliXzcQO3

1 1
A<—3§,3),B(—7,2§)

o Watch Video Solution

8. Find the slope of the line passing through
the given two point

A0, 4), B(4,0)

o Watch Video Solution

Optional Exercise


https://dl.doubtnut.com/l/_blPlliXzcQO3
https://dl.doubtnut.com/l/_xtqIziKoXgVe

1. Find distace between the points (a+b,a-b)

and origin.

o Watch Video Solution

2. Find distace between the points (8,3) and

origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_HtUkLcD6zOQl
https://dl.doubtnut.com/l/_ns7rokWG8mB5

3. The side BC of an equilateral triangle DABC
is parallel to X-axis. Find the slopes of the lines

along sides BC, CA and AB.

o Watch Video Solution

4. Find the centroid of the triangle formed by
the line 2x + 3y - 6 = O, with the coordinate

axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_jp8l8gxqmgMA
https://dl.doubtnut.com/l/_EHGSNXYPclBv

1. Where do these following points lie (0, -3),

(0, -8), (0, 6) and (0, 4) on coordinate plane?

o Watch Video Solution

2. Find distace between the points (6,8) and

origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_36Z5tTgZQMKY
https://dl.doubtnut.com/l/_LlgKC0qByWma
https://dl.doubtnut.com/l/_WnqTDX6xrNmt

3. Find the distance between points ‘O’ (origin)

and ‘A (7, 4).

o Watch Video Solution

4. Find the distance between A(1, -3) and B(-4,

4) and rounded to two decimal

o Watch Video Solution

5. Find distace between the points (7,-24) and

origin.


https://dl.doubtnut.com/l/_WnqTDX6xrNmt
https://dl.doubtnut.com/l/_KuwKR5PRyH5h
https://dl.doubtnut.com/l/_Bq0OeVGFjfnD

° Watch Video Solution

6. Find distace between the points (3,-4) and

origin.

o Watch Video Solution

7. Find distace between the points (a+b,c-d)

and (a-b,c+d).

° Watch Video Solution



https://dl.doubtnut.com/l/_Bq0OeVGFjfnD
https://dl.doubtnut.com/l/_ZExgJXynyJlE
https://dl.doubtnut.com/l/_DEtiuDvyXdNR
https://dl.doubtnut.com/l/_Grqr4uyAEGXx

8. Distance between (x,-7) and the point (3,-3) is

5 unit . Find the value of x.

o Watch Video Solution

9. Distance between origin and the point (-4 x)

is 5 unit . Find the value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_Grqr4uyAEGXx
https://dl.doubtnut.com/l/_QGwCwUdJHAKu

10. Take a point A on X-axis and B on Y-axis and
find area of the triangle AOB. Discuss with

your friends how they do it?

o Watch Video Solution

11. Find the area of the square formed by (O,

-1), (2, 1) (O, 3) and (-2, 1) as vertices.

° Watch Video Solution



https://dl.doubtnut.com/l/_gPcBvAlMgCZH
https://dl.doubtnut.com/l/_kHssCAIddwUb

12. Find the slope of AB , where

A(2, 1), B(2, 6)

o Watch Video Solution

13. Find the slope of AB , where

A(-4, 2), B(-4,-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_psNZIlzbkhHv
https://dl.doubtnut.com/l/_ccwlgIax2izc

14. Find the slope of AB, where

A(-2, 8), B(-2, -2)

o Watch Video Solution

15. Distance between origin and the point (x,4)

is 5 unit . Find the value of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_tmtCh0xqQ4yd
https://dl.doubtnut.com/l/_lOkro4cQbuLZ

